T = 4 . KBOFESFERG2TEE (@ TRR) MR O T3

mIHEE ¥169,282,300

ik ¥ 153,893,000

T 2 (TGP PimEREe 2 T

fthieg . BRI % — =
e T IkimAE  #94,500m*
Bty (7= b) | WAKHFHEE
SR T (AR, BRI

N = H R5.4.20
ALEOBFLE  R5.5.18
(T8 59 5
SEREEAL
S LEY % PR H ~ R5.11.30

NO. 1 x Pz ¥




1, H

[1]
[2]
[31]
[4]
[5]
[6]

% R
BEIEZE

RETH
BRRWLIH
AR T

# B R K E
HigEHEEAE
- REEESE

N

3. 0T F M@ %

HEBE B M YR

5. 8 I £ &

No. 2

B f

—=
—=

(1+2)

—=

(3+4)

& #F) N EH(ED

102,531,661
4,613,930
3,631,250

110,776,841
16,868,980
8,888,202
17,358,977

43,116,159

153,893,000

15,389,300

169,282,300

gEE Akt
23.97%
(BRHIRIE R R

HE10%



SMEEAR Tl H BINER

k4

I

i

Wi

i

i

SME G L9

102,531,661

Ty

102,531,661




SMERE T3 LR BINGER
SIS T4
£ i S WAL Ll {ii =
+T
1 28,031,092
M
[FH
1 13,827,475
oV
R ALE
1 12,896,327
M
AR
1 16,611,196
M
TR
1 5,412,158
M
ER(E7]
1 22,252,470
M
bl
1 1,483,038
M
TR LB
1 2,017,905
=t =K
) 102,531,661




MR T8 AR EBIER

S L
BFoH 4 G e HL il it =
+T
1 28,031,092
=
it
28,031,092
JH I
1 13,827,475
=
it
13,827,475
HEPELE
1 12,896,327
=
it
12,896,327
RIMEK
1 16,611,196
=
it
16,611,196
AR
1 5,412,158
=
it
5,412,158
R
1 22,252,470
=
it
22,252,470
bl
1 1,483,038
=
it
1.483,038
FEAEM AP e
1 866,103
Y
223 N =
MR T R E BIPER
SR L
BFoH 4 R B 4 W e HL il i =
FEAEMALERL sy
1 1,581,526
Y
A R A797
1 A429.724
Y
it
2,017,905




=

fa S fii Lo fE H BIPER

% i T & 4
B LF
1 4,613,930
oV
B
4,613,930

KBRS TR i S B SR AL =




ARG TS FHHBINR

ERGEAE L
% i ¥ B X2 & i i
UNELAYSE
1 1,287,040
#
R AR A T S A
1 1,691,050
=
ACARN B A5 A1 4T e A
1 667,970
#
It 15 FE B 3¢ A
1 967,870
=
4,613,930

KBRS TR i S B SR AL =




EERi e
BB 4 oA B 4 B ¥o& HAL & izl i
ST EITER
1 301,100
N
AAFIAMT i A4
1 985,940
N
3t
1,287,040
A5 41T THBH
1 301,100
N
RIAEE AT el AT S0
1 1,389,950
N
1,691,050
AAIBE LB S AT R i BITHR
1 179,960
N
AL SEA A1 4T i T4
1 488,010
N
3t
667,970
BB SRV R0 BB
1 626,450
N
BRI i BT S0
1 341,420
N
967,870

KBRS TR i S B SR AL =




PEAkER O T4 B SRR

% i # ®E O HYZ # L
AR fi L
1 3,631,250
Y
G
3,631,250

KBRS TR i S B SR AL =




PbkER O T2 B B BIAER

A B fi L
% i # ®E O HYZ # L
e Bl T A B ff
1 3,631,250
Y
g
3,631,250

KBRS TR i S B SR AL =




Pk T4 PR EBINER

AR T
BOH 4 B R H A B BRI 4 i
L N EBAMEK Sl
1 3,116,710
XK
P AL Rl IN[RIHE A
1 514,540
o
it
3,631,250

KBRS TR i S B SR AL =




